比較結構

比較結構藉著形容詞與副詞的字形變化來比較兩個人、事、物
壹、One comparative criterion: 


一、原級比較

	比較對象
	動詞
	Adv.
	形容/副詞
	連接詞
	被比較對象

	1. She 

2. I 
3. He 
4. He 

5. He 
	is

drive
earns

read 

earns   
	as

as

as

as

____ as
	charming

carefully
________ money 
________ books

 much money 
	as

as

as

   as
   as
	her sister is. 
he does. 
I do. 
I did.  

I do. 


    二、比較級

	比較對象
	動詞(受詞)
	形容/副詞 + er
	連接詞
	被比較對象

	1. Ann

2. He

3. John
	worked
speaks

knows food
	harder

more fluently

better
	than

than

than
	he _______.
______I

Jane knows wine.


· 同樣事物才能比較: My car is more expensive than _________________.
· 避免雙重比較的錯誤:  * She is more taller than her brother.

· 慣用語: higher education, rather than, more than (=over) 
· 拉丁語系: 本身已有比較的意味, 不須加’er’或’more’, 以’to’代替’than’:  

He is ________ superior _______ me in English writing.

(= He is ______ better than ______  am in English writing.)

· 有些形容詞沒有比較級: unique、perfect、 single、 round、 square。
三、最高級 
	
	補語/副詞

	Christ

Einstein

He

He  
	 is

 was

 is

 speaks
	 the tallest (girl)

 the greatest (scientist)

 the best speaker

 best
	in class/ among these girls. 

of all scientists

in the contest.

In the contest. 


貳、More than one comparative criterion: 

雙層比較結構 【the more + adj/adv + S +V, the more adj/adv + S1 + V1】

When you drive faster, you will feel better.

= The faster you drive (因), the better you feel.(果)

· The older (one becomes), the wiser (one becomes). 
· The more expensive the hotel (is), the better the service (is), which is offered. 
1. The more equipment activities require, -----.

(A) which the activities become less accessible

(B) and the less accessible activities become

(C) the less accessible the activities become

(D) activities become less accessible

2. The stronger ----- magnetic field, the greater the

voltage produced by a generator.

(A) than the    
(B) is the   (C) that the    
(D)the

3. The higher the standard of living and the greater the national wealth, the -----.

(A) greater is the amount of paper is used

(B) greater amount of paper is used

(C) amount of paper is used is greater

(D) greater the amount of paper used

4. Grand Canyon itself defies human comprehension. The more you know about it, ----------------. .

(A) the more awesome it becomes 
(B) it becomes more awesome

(C) than it becomes awesome

(D) and more awesome it become

5. The annual worth of Korea’s manufacturing is greater than -----.

(A) that of its mining and farming combined

(B) mining and farming combination

(C) that mining and farming combined

(D) of its combination mining and farming

6. Some surveys indicate that proposals incorporating with graphics stand 20 percent more likelihood of being approved than -----.

(A) those do without graphics

(B) which have no graphics

(C) those without graphics do

(D) that does without graphics

7. The ratio of managers’ salaries to ----- substantially lower in Taiwan than in the United States.

(A) ordinary workers is


(B) those of ordinary workers is

(C) ordinary workers’ are


(D) that of ordinary workers is

8. Eastern Taiwan generally receives more rain than ----- western Taiwan.

(A) does 
(B) in
 (C) it does in 
(D) in it does

9. Emphasis is placed upon conceptual understanding, problem-solving and critical thinking ----- rote memorization.

(A) instead 
(B) rather than 
(C) in addition to 
(D) as well

10. Light travels more faster than anything else that has ever been measured.

A           B                      C               D

11. The use of chemical insecticide in this country is as extensive than ten years ago.

     A                       B           C                       D

12. The energy expended per unit of production in Japan is twice as much as it of

                A     B                                      C

   Taiwan’s expenditure.

               D
13. It seems that modern customers are as interested in the way things appear than 

   A                              B

   in the way they actually are.
          C      D
14. Sri Lanka is not so large in size as Ireland, but its population exceeds Ireland by

               A        B                                   C

   several million people.

        D
15. The Japanese are eating more than twice meat per person as they did in 1950.

         A                         B     C            D

16. Laser beams have the most unique ability to perform bloodless, painless surgery.

                       A                B               C      D

17. It’s thought that Pakua ceiling is the distinctivest feature to Taiwan temples and

        A                              B

   the one in Lungshan temple is the oldest and most peculiar.  \
    C                                       D
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